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Physics 201 Quiz #6. 23" November 2004.

Student’s Name: Z ! K D:

Instructions: All answers should be given correct to 3 significant figures.

Q1. A single slitis illumninated by light of wavelength 589.nm and the diffraction patiern
is observed on a screen 3.00 m away. If the distance between the first two diffraction
minima on the same side of the central maximuem is 1.77 mm. find the slit width.
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Q2 A helium-neon laser (» = 632.8 nm) is usad to calibrate a diffraction grating. If
the first order maximum occurs at 12.5°, what is the line spacing, d?
Using this grating, what is the highest order maximum that can be observed with

this laser?
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